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Abstract

In this paper, we seek the light emitted from the decay of the neutron. The B-radiation, the emission
of the electron from the nucleus, the anti-neutrino is emitted.n — p+e~ +ve where Ve is the anti-
neutrino. The value of the neutron energy is Ex=mnc*/e=939.56563 MeV. The neutron decays into the
proton and the electron. There is a study to find the energy of the mass of the neutrino. The neutrino
has three or more features. The first is that it has no electric charge. The second is that it has the weak
interaction with gravity. The third is that it has passed through normal matter. We assert n_, pie +v '
Furthermore, we have suggested that the neutron decay radiation is not the particle, but the light. The
gamma line is v , the high frequency 2592249921x10% Hz or short wavelength
1.156495196 10 m. It has the energy of 0.782326MeV.

1. Preliminaries

We consider the two-body problem of nuclear and electron to be within one hydrogen atom. !4,

It is assumed that the electron moves on the fixed surface. Therefore, we put @ = 7 i0. Q isa
2

parameter that relates to the angle of rotation of the orbit.
Then the metric is
ds®(=—dcz?) = —dct® +dr? + r?(cosh® Qdp® —dQ?) (<0) (1)
And the polar coordinate is (t,r,Q, ) . We have the equation of the Kepler type.

ct=ct

X =rcoshQcos ¢
y=rcoshQsing’
iz=irsinhQ

keQ
(@) mec@ = mecCuemeCQr ---(the conservation of energy)
dr (2)
dct

keQ ety inh - rcosh @ 92) cosh (0%
dct dr

m,c’r® dr

(b) d—zz(rsinhQ) =—(
dr

.-+ (the structure of space)

(c) r*{(rcosh Q‘;—‘”)Z —(r Z—Q)Z}: C?---(the law of equal areas)
T T

(d) recosh @32 —ceosho=0), r32 - _csinho
dr dr
G):—I( keZQZE—sinth—q))dr ------ (the internal rotation)
m,cr® dr dr
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Fig. 1.The anti-de sitter space.

Fig. 1 shows the anti-de sitter space.
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where R, = keQ s electronic classical radius, C, is the speed constant for the energy function,
2
m,C

C is the area speed constant, K is the coulomb constant.

The main equation is

dr dct ., dp,, ,dQ.,
— —r“((coshQ —))-1
(dCT) (dCT) (( dc T) (dCT) )
cC, > C
=(2er ) () -1, R, = 78179510 %m, (4)
C cr m.c?

e

2. The flower orbit of the electron around the proton

. . 1.
The orbit equation for — is
r

1
d- 2 2R 2 2w R
(= =Crer - - Se do=e Tan
e rdd r’e rdd ' 5)
And the orbit equation for r is
2 2R, 2 RU
gr =—r\/—1+rzi—°2e r—r (C: do=e fdd)- (6)

e rdo
We get the solution of the equation (6) from the inside of the Bohr radius. In the case,
X
n’= —1:1.2(X:6) is apsidal precession!®!.



R, 2.817940287410717x107"

. \/ —14
C = re—L_ —1.01954x10* x 299792458 1.01954x10
1 R \/1_ 2.817940287410717x107*
r 1.01954x10™
=1.88902x10°[m?/g].

c -Ry c 2.817940287410717x107%°
C,= e’ = e oo™ =D 67321x10%[m/s]-

1 Ry \/1_ 2.817940287410717 x107*°
1.01954x10™*

When the circle obit in the radius I =1.01954x107* m which is the minimum radius of the

electric charge. The speed constant for the energy function and the area speed constant are

C =1.88902x10°m?/s,C, = 2.67321x10°m/s .

e= \/ x((%)2 ~1)+1=i0.4789167960708896 .

xR, xR,
- - ]=_ 0+ 2 -2
1+iesin(n,6) 1+e,°sin“(n,6)

1.6907641709345915x107™

r=—R,+Re[

=-2.817940287410717x107" + Re[

1+10.4789167960708896sin(1.09544511510828426)

1.6907641709345915x107™
1+0.22936129755880608sin?(1.09544511510828426)
Fig. 2 shows the graph of orbit and Ry.

=-2.817940287410717x107" +

Fig. 2.n,2 =1.2(6/5) for 0= =27 x5.

3. The neutron’s orbit and the gamma line

]



The index of orbit which is a solution of Kepler’s type is as follows:

(i) X=(£)2+1(ii) n, = / X i) ez\/x((&)2 - +1
cR, x-1 c

where C; is the speed constant for the energy function andC is the area speed constant.

1
.
The angular moment is (i) C = cy/X—1R, =c(Xx-1)R, lil = (xR, - RO)—Xl
/1_f
X

This is an area speed constant from electronic classical radius Ro. Therefore, we coincide with xRo

and the position 7

c.[Ro
Then C represents a new definition andC = (r —R;) Ty vatris not small.
1-Ro
r

Therefore, the Planck constant in the position » is guessed as:

h(x) = 22m,C-n, =22m,C-n, = 2zm.cv/xR, = 2zm xR, % )
X
.. . . r
Because when position r is the Bohr radius I , Xg =
R,
h(xg) =2zm,r, -c % =27m,r, -V, = 6.626068974366999 x10**[J-s] =h (8)

1
where / is Planck constant.
X
X J—

We show the (ii), N; = . This is a value of perihelion movement.

[EEN

By the (iii), we adopt the form of C, as:

Ry Ry

c R c TR c -

Cy=———c¢ XR°:—R e = e
v

1-(5)° 1— 0 =

c xR,

x | =

X |

Becausee =€, +1ie, =0+ie;, €, is close to the zero, €, is arbitrary.



When, ¢ = /x((&)2—1)+1:iel-
c

1+e
L),

1+e? x—1-ge? x-1 e? 1 e?
Cozc\/_ 1 ¢ |m—— 1 ¢ |Z——_21 ¢ _Z_L'
X X X X n’ X

Another form of C,is

Then, (—0) =1—(

B R B R 1 1
CO _ c e (X_lo)Ro — c e (X_]-O)Ro — c e_E — C\/; e_ﬂ :Cnfe_ﬁ
v R 1 x-1
1- (Y - -~
c xR, X
x—1 1
en, (=) <eny (—) =en, (o) =c—
ex-1 1+—— f
x—1
Then,
c e—ﬁ
C \/1_1 1
e? = x((Z2)? 1) +1= x(A—2—)2 -1 +1=x(( ) -1 +1
c c -t GE
X
1 1 ) X (x 1)
< X(( - 1 ) =1 +1= (( )-1D)+1=X ((—) 1)+1=0.
1-= (1+—)
X x—1
Therefore, the orbit formula is r+ R = — XR_O = xRy (1_Ie“_ sinn;9)
1+ie sinn,@  1+e’ sin’n.@
- xR,
1+e? sin’n @ ©)
And the point  _ R, _ 1is named as the white barrier, in the electromagnetic gravitational theory,

o
RO
as the black hole in the gravity.
Fig. 3 shows the white barrier. Fig. 4 shows the energy of the electron near the Bohr radius.

The gray line is the Bohr radius. And, the blue line is the 511keV positron annihilation line. The

yellow line is the energy of the electron.
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Fig. 3. The white barrier.
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Fig. 4. The energy of the electron near the Bohr radius.



4. Calculated the gamma line

We calculated the point , _ '

of the electron, the proton and the neutron, and the following

0

formula is the energy of the electron, the proton, and the neutron.

me? m.c? e%
=—e " [J]=——=="—[eV],

E =
{me.my.m,}
P e
- R hol
xR, X

2 m c’
- —meec = 0.5109998458300283 MeV] E,,, = —2— = 938.272088056285MeV ]

(10)

E{me}

my} =
m, ¢?
T®  _ 939.5654139749439[MeV].

e

By =

By the energy, the point is

X, =1.2564999084712615[-], X, = 1.000000040141493[-], x,, =1.000000040031057[-].

When the neutron decays the electron is emitted and the neutron is a proton.

(m,c®—m_c*)—m,c?
£ =0.782326MeV.

Then, the energy is AE =
€

We calculated the frequency with the new Planck constant as follows:

C(X,, ) =C4/%, —1R, =1.6902502831312807 x10*° ()= | = 4998.06-

m,

h(X,, ) = 22m,C(x, )-n; (X, ) =2zmc,/x, R, =4.835276210006947x107*, x = RL :

0
Then, the frequency is

L, __AE ~ 0.782326x10° x1.602176634 x10*°
™ h(x,) 4.835276210006947 x10*

= 2.592249921x10%Hz -

And the wavelength is

_c 299792458 ) 15649517x10*m.

A, =
Y 2.592249978 x10%

my

Therefore, the event generates the gamma line with the energy 0.782326MeV and the high

frequency 2.59225x10% Hz or short wavelength1.156495x107" m.

Compare h(Xg) to (X, ).

h(x,) _6.626068974366999x10 *[J-s]

= = °2-137.036-
h(r,) 4.835276210006947 x10 *[J-5]

We get the fine structure.



5. The graph of the electron orbit in the neutron

We calculated the index of the neutron as follows:

X, =1.000000040031057[-],
X, R, = 2.81794040021582327277x107*°,

C =c,/x, —1R,=1.6902501565620994x10, (11)

X
n, = T 1= 4998.060546773912,

e= /x ((52)? ~1) +1) = i0.0002000776122372093.
mn C

where x is the point of 7/Ro, Ry is the classical electric radius, 7 is the distance of the center of the
electron and the center of the proton.
XR,
1+e%sin’(n, )
Therefore, the neutron orbit is
_ 2.81794040021582327277 x10™*°
~ 1+0.0002000776122372093%sin?(4998.0605467739126)
Fig. 5 shows the graph of the electron orbit in the neutron of ny= 4998.060546773912.

y=r+R, =

(12)

y

. . . .
—2x10715 _1 x10718 1x10715  2x10715

Fig.5. ny =4998.060546773912.
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This form as the equation (12) is hard to understand. When the position is the neutron, the orbit is
nearly the form of the circle. Therefore, we exaggerate the orbit parameter. The eccentricity “e” is the
value of 0.5 with the graph of the neutron. And perihelion parameter “n/’ is 5 and 50.

The graphs are

_2.81794040021582327277 x10*°

= 1+0.5%sin%(50)

_2.81794040021582327277 x10*°

= 1+0.5%sin%(500) '

Fig. 6 shows the graph of the electron orbit in the neutron of ny= 5. Fig. 7 shows the graph of the

; (13)

(14)

electron orbit in the neutron of ny= 50.The blue line is the classical electric radius. And the yellow

line is the electron orbit in the neutron.

6. Conclusion

In B-radiation, when a neutron decays to the proton and the electron, the mass of the emitted particle
is a little small mass of the neutron. The particle is the proton and the electron.

Recently, the difference in the energy is thought of as the particle (the anti-neutrinov. ). These are
various theories about the particle. The neutrino and the light of neutron is the difference between
energy and light emission.n— p+e~ +ve. As the result, we show the difference in energy is an

electromagnetic wavey .n— p+e~ +v. The calculated result suggested the decay of the neutron.
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(The supplement) The radius of neutron
In section 4.” Calculated the gamma line”
The distance between protons and electrons in the neutron is

X, (the ratio of distance) =1.0227 .

This is the solution of the equation

mc?

hol
X

Therefore N(X,) = 27m,C ()N, (X,) = 27m,c./x, R, =4.889858338493112x10

1
e *(Energy) = (939.56 —938.27) x1.60218x107"®

Then, the frequency is

6 -19
AE  0.782326x10° x1.602176634 x10 2 563314416500963x10%Hz -

Vo = = 36
h(x,) 4.889858338493112x10
And the wavelength is
Ay = L 299792458 =1.1695500796551907 x10 ™ m .

v, 2.563314416500963x 107



